Week 9 Tutorial: Introduction to the Areal-Weighted Re-Aggregation (AWR) method

This method is helpful when BOTH of these two conditions are met:

(1) You are given counts that have been aggregated by one set of features and you want to study

the counts using a new set of features.

a. Origin features = the features that aggregate the counts (I also call these “Moms”)

b. Destination features = the new features that you want to study the counts with (I also
call these “Dads”)

(2) The boundaries of the Origin (Mom) features do not nest within the boundaries of Destination

(Dad) features
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